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Assuming the solar wind consists of protons 

 
22 3

, 1.7 10SW e SW pn m kg m      

 

Thus 

 

r = 2.7·10
9
 m ≈ 38 RJ 

 

 

 

b) 

 

 

Tk
r

R
n

r

a
v

Tkn
r

a
v

B
J

eSWSW

BeSWSW

3

00

2

3

02

0

2

3

02

22/
1

4

22/
1

4










































 

 

Substitute x = 1/r
3
. This gives you an equation on the form 

 

ax
2
 + bx + c = 0 

 

with 
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b = 2
3

0e J Bn R k T = 3.610
18

 

 

c = 
2

SW SWv = -2.710
11 

 

 



The solution is 
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Then   
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xr  m ≈ 73 RJ 

 


